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Series is classified into
\/Number Series.

B. Alphabet Series.

C. Letter Series.

Logical Reasoning

/a./29 b. 31 c. 41 d. None
— ’-:if\z 2+ 17=46
7 = 4EFTT =67
\l le+\3 =29 7+ 23S = a3
3.
a. 30 b. 21 c. 25
— - Py =2 2, . _
r+3 =S \7+3 =26 pii s LEmi=2e
S+S =10 2Q4+ \\ =37 32+:_—‘\; 61_‘_123:,.
\. s+ 7 =7 A=
a. 32 b. 48 %< 64 d. 50
2 3 2[ 3
V> \31 2> :_ ;33,4 |4 =64
K 120, 99, 80, 63, ?
© 48 b. 40 c. 30 d. None
e w— S
\o =)= 99 8%\ = &3 I
\
L 10, 11, 22, 23, 46, 47, 94, 95
a. 96 b. 110 #2190 d. 180
o=t 2241 =22 4G+ 1 =47 94+l —ag

ASx2 =190

= sSoo ySs x5 = RS
2
— A= .
Soo % & = 2SO \2S X = S-SO
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Logical Reasoning

I

%&41 b. 40 c. 64 d. None of these
N NW+6 =17 24t =32

2 2 2 2
| 35S F 9 I =121
7/ 7 7

1{IX 10, 12, 36, 38, 114, 116, 348, ?
%f 350 b. 1050 c. 1044 d. None of these
o+ 2 - 1= 36432 =3]¥ U4+ =106 [348+2 =3S0
1T X3 =3¢ IR =114 HEXI =34Q

|/

N\

|1 1l 5760, 960, 192, ?, 16, 8

4&48 b. 64 c. 384 d. None of these
S760 -6 =460 1AR—4—=4% W—>r—o

6o =S =142 G =3 =16

AN
.1 YA 5, 25, 36, 6, S, 64, 625, ?

. 25 b. 390625 c. 125 d. 5
= 2
sSs \S
) 36, 26 ‘&I‘é els/ €a2s

Sewies ol prme Numbers
\ o Wexlr prme  wuwmbexr 1S |F
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Logical Reasoning
14. Coding
Letter Coding 4/\ Number Coding

9(10{11|112{13|{14|15{16|17|1819| 20| 21| 22| 23| 24| 25| 26
A/B|CID E|F|GIH|I|J|K|LIM/|N|OIP|Q|R|S|T|U|V(W|X|Y|Z

-
N
w
-
(%))
=]
N
Q@

26| 25| 24| 23|22/ 21/20(19|18|17|(16|15{14|13|{12{11|10| 9 (8|7 | 6 (5|4 |3 | 2| 1

1N o D SUSH EE L
O e . o B | 4+ \ U T N T B = R B
\ W H o N _E TTTGEDM

18.1 MOBILE is coded as NQEMQK then ASHWAT will be coded as -

Mo B T U E ASH WAT

£+ +2 +3 +4 *S +¢ 4\ +2 +3 +4 +S +¢

S ————C RO R - =4

N If MAT is coded as 34 then PILLAR will be coded as -

MAT = @3+ 1 ¥20 = 34 I+ 1S sowm ol
Lettey numbey

PILLAR = ¢+ a9+ 2+ (2 +1 + 12 =68
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YAIA Find the odd man out -

i. January, May, December, April _* A p‘a:\\ A e s +he oty Monkin
oL 30 daas

ii. 10, 14,16, 28,17,30,38,42 ; |7 1S the Ny odd Wwmbey

iii. 25, 49, 35, 81,121, 64,4 : S, (& \S only  Numben oohich 1S
not o pexfeck squane .

iv. 78, 91, 26, 52, 130, 117,82, 143,39 ° Q2 T + 1S the only wwmbeyr

I . ¢ e °
Whidh 'S ot perpecr dauvisible
v. 1, 64, 27,16, 125, 343 by 13
6, T+ is on\y nuwmber wohidh S My tor e Redt cybe

vi. Physics, Biology, Chemistry, Accounts

A ccounts W\\a swbbetk Lyom wmwmerce Sheam .

vii. Book, Pen, Pencil, Bike

Bike T+ s W\LU) ob:\ed' deesn + be\ohﬂ‘l'c Educat A
: shjﬂmij.

\

30 : only numben wWhdn 1S WY o povReck syuare |
225 : only 3 d&ai\- womher |
36 :only enem wWumbern
49 :only NumMmbex mnom —ARU'\S.\b\e by
\ J)
22. X
T No¥+
THawest
No A Noyth GQS'\Z
Wost = > East
g v Scu—\heqS‘\:
outhwest Seoudh
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YA N North then right

Logical Reasoning

7

He s -eqdma East

|

Y.Z: W North left then left then right

He 1S -&adnﬂ
west

< 3

|/

AW West then left then right

He is Pacing .
west

e_

N\

|/

2

(N Southwest then left then right

c'mq\\y) he s fading
sourhwest

YA W Northwest then right

F'mq\\il)

he \s —P&dhﬂ

NoYHh eas i

N\

) Lineawy q“fwh@zm

28. Seating arrangements are classified into

i) cirewhoy a“c'o‘mr\ﬂemw\}rs
i) po\yaoh\c on*comzrmm;\-s
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(SR N, N, S

29.| P Q R S T facing north
Who are to the left of R : P/ Q
Who is to the immediate left of S : R
\ Who is to the immediate right of P : Q
30. fl\, 53/ g/ R E F facing south
Who is to the right of A : NO-Me. M M
Who is to the left of B : c, D'E | =
Who is to the immediate right of C : B
Who is to the immediate left of E: =
\ /\ e
31. chmg) :‘ \zpo :
FOLcAhS R\ah\- + fpnbiclack wisR \ @ -
. 0
centye L_eP--\— c cloctkwise Q‘ah+ ek
N Left :Anh ||
D'\Yf\nj Table @ @ clockise
Cloc Antltlockwise
\ (E)
32. A If A, B, C, D, E, F, G, H are facing centr&-then
H B Afacing South
B . South west
C . west
G ¢ D : NOoYth west
E . Noxth
F D F . Novtheast
E G : East
N H - coudheast

My Notes :
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Logical Reasoning

ﬁ 1. Father’s Father . (\vand Ralver
2. Father’s Mother * (A\vand wo-then
3. Father’s Brother : uUhcle
4. Father’s Sister © Aunt
5. Children of Uncle . C oU\S‘hS
6. Wife of Uncle . AuWnt
7. Children of Aunt ; C oV SG\V\S
8. Husband of Aunt : Uncle
9. Mother’s Father . WMgte¥'nhg) (Avand Pathen

10. Mother’s Mother . M atevnal Awand othenr

11. Mother’s Brother . Malewng) owncle
12.Mother’s Sister ' Aun-\— .

13. Children of Maternal Uncle | < ovLSsS\ng

14. Wife of Maternal Uncle ° AunYt

15. Grandfather’s Son ° tathenry oR oncle

16. Grandfather’s Only son ;| wat}heYy

17. Mother or Father’s Mother . (s4ygnd Mothen

18. Grandmother’s Mother : (yn-eo\-\- Grvand mothey
19. Grandmother’s Father - C,n-eq-\— GAvand Lethe
20. Grandson’s Daughter c,n-eq-\- AHAvand dauag hye
21. Grandson’s Son | (\veat (sAvand son

22. Grand-daughter’s Son . (oqyeat G‘\“O'QY\&SOY\

23. Grand-daughter’s Daughter - (sqyegt Avand aqu\a hte ¥y
24. Daughter’s Husband @ Son (N Law

25.Son’s Wife . Dauahter (v Law

26. Husband’s Father = ather (\r\ LW
27. Husband’s Mother : ™Mothex 1h Law

28. Wife’s Brother °© Ryoihory \n Law)
29. Wife’s Sister - gSistex \n Law
30. Wife's Father '  Eqthen \n Lot
31. Wife's Mother  *©  Mpthey \n Law

32. Brother’s Son . NQQ\\Q\'J
33. Brother’s Daughter . W\liece

34. Sister’s Son  * Nq; hewd
35. Sister’s Daughter ' N\ cQ.
36. Brother’s Wife . SisYen v Lacw

37. Sister’s Husband ; Ryothey (W Lawo
38. My father’s sonismy : R~othern
39. My father’s daughter ismy : S\gtey

40. My father’s fatheris my . (svqnd Dathe ¥
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Logical Reasoning

41. My mother’s brother is my unclée

42. My daughter’s husband is my Spn \\ Yaw
43. My son’s wife is my dqu%\\m tn \aw
44. My Brother’s wife is my sisten in law
45. My brother’s daughter is my Njece

46. My brother’s son is my \\EQ\\QN

47. My wife’s father is my Fathey tha QW

48. My wife’s mother is my WV|qotter W \aw

49. My wife’s sisteris my Sigtenx v law

50. My wife’s brother is my Ryother 1n \aw
51. My father’s wife is my Mo-they

52. My mother’s husband is my oty

53. My son’s daughter is my (sAxand dauahtey
N 54. My daughter’s son is my  (s4vand So N

%YW 6, 11, 21, 36, 56, ?

a. 42 b. 51 —x= 81 d. 91
——> G *s =1\ ICFI0 =SC
H+to==21 S¢H2IsS =]
. 2\ + 1S =3¢
| a. 400 b. 410 c. 420 .
10+ 40 = 100 30+ 120 =430
100 +=—100—=200
N\ 200+ 110 =310
36.
| a. 27 ;? 29 c. 31 d. None of these
T+ 2 =13 7+ 2 =19 23% 232 =3
3+4 =17 A+4q =23 3S+4 = 39
37.
| a. 36 b. 39 c. 45 - 48
G+ & =12 I + (= =33
S 2+9 =21 I3 F IS =3¢
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38

Logical Reasoning

| Logical Reasoning g8
2504020
| ;;(/20 b. 16 c. 18 d. None of these
+3 =S L4+ & — 20
S*4 =3 20X 7 =27
N s =14
| a. 42 536 c. 91 d. 51
T+ 10 =21 ICH+F 10 =S¢
JIVFE IS =306 S+ 3as = Q1
N\
Eill 10, 18, 28, 40, 54, ?, 88

/\(70

b. 86

c. 72 d. 80
o+ Q =1Q YT =40 =%+ =70
S 1IEFX 16 =28 HMOFYr W =S4 0+ 1% =83
.41' 195, 168, 143, 120, ?, SO

a. 100 799 5 c. 105 d. None of these
P=t—1qs 2=t =T =99
1= =168 HE == tReo— = 1——5

.42' 8, 10, 40, 42, 168, 170, 680, 682, ?

a. 684 b. 1528 4?2728 d. None of these
S+t+2=to o+ =42
loX4 =40

\W6RF2X T 170 ©R0+2 =682
42 x4 =R |70 X4 = 6R06

692Xy =272Q

MW 28, 33, 31,

36, 34, ?

. 39

2L+ S =32

|/

a. 38

c. 42 d. None of these
3\+S =6 A4+ S = 9
36 —2 = 34

33-2 = 3|
AN

My Notes :
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iV 5760, 960, 192, ?, 16, 8

Logical Reasoning

d. None of these

T =4 = 4% 1c—2L = ¢

=
S

\6

d. None of these
Y =4I 1 72¥S = \77

a. 96 . 48 c. 32
S760 — & = 9460
abo =S = 192 4R =3
.
.45. 2, 3,3,5,10, 13, 39, 43, ?, 177
a. 46 172 c. 48
241 =23 342 =S 19+3 =1
3x\=3 S X2 = lo \3%X3 =239

N\

43Ry = |72

4{ 92323 b. 92233 c. 93292 d. None of these
RAM AN DI N E sH HA ™MAM
R = 67 -S4 49 9 22 3 2 3

N\

If RAMAN is written as 12325 and DINESH is written as 675489,

How HAMAM is written?

BN

a. 9207716

(RE’: >
>

b. 167129

Reyerse D E R
ettty N0, 4 S 1@

(£2)

6 +20

L etion WO
code

If RED is coded as 6720 then GREEN would be coded as
%2 1677209 d. 1672091

R E EN

Renen s

N-EBEE R O
g s s 18 F

6 77209

N\

If BROTHER is coded as 2456784, SISTER is coded as 919684,

what is coded as BORBERS?

/2542849

b. 2542898

B RO THE E
2L 4 S G 7T A4

BoRBER S ——> ceéee\qs_> 2.S429349

S
o

c. 2454889 d. 2524889
. S T £ R

A

S

N\

a. 5279431

DPEL HT
73 S5 41

b. 5978213

m If DELHI is coded as 73541 & CALCUTTA as 82589662, How is CALICUT coded?
_#. 8251896 d. 8543962

CALCOTTITA
FAS Y9 662

CRLICOT
QRS | 94 €
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Logical Reasoning

51V ] If CLOCK is coded as 34235 and TIME as 8679, what will be the code for MOTEL?
/72894 b. 77684 c. 72964 d. 27894

C L o c kK T '\ M E MO T € L
34 2 3 S 6 7 A 72394

N\

In a certain code NAME is written as 4258 then what would be the code for MEAN?

NAM & MEAN

42 S RV S 2L A4
\
.52 8 If GOLD is written as IQNF then WIND would be coded as

a. VHMC . YKPF c. XJOE d. DNIW
i o L b

4+ 2 A2 22 A2 V\] \ N S

\ S S S

SR & If ROSE is written as TQUG, How BISCUIT can be written in that code

%./ DKUEWKY b. CJTDVJU ¢. DKVEWKYV d. DKUEWKY
R O s E R}l S C O\ T
+2 +2 12 +2 +2 42 t2 ¥2 32 +2 1+ 2
G B S . DK U EWKY
54. ) pDded & DI 0 puld yo pde BOMB/
a. AIMIVT T AMJXVS ¢. MJXVSU d. None of these
D E L = B O ™M B A Y
—t——2 -3 =4 =S —t =2z =3 =4 =S =6
C (- T B D

AM I X VS

If PALAM is given with a code number of 43 then, what will be the code number for

SANTACRUZ?
4&123 b. 85 c. 120 d. 125

PAL AM =lc+ T+ 1241+ 13 =43

SENTACRUZ — i+ 13+ 2o+ +IF 1+ 21+2¢

\\ 22
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Logical Reasoning

m If 256 means you are good
637 means we are bad

358 means good and bad
which of the following represents ‘and’ in that code

¥ @A Find odd man out from : Avni, Ishani, Esha, Usha, Veena

a. Veena b. Esha c¢. Usha d. Avni

Veena oh\zj Word S’m\——\%k\ﬂ wth  cangsnant

53R Find the odd man out from : 64, 32, 512, 243, 1024, 8, 2048

a. 2048 . 243 c. 64 d. 8
243 TS AN add Numben

51! A Find the odd man out from AB, MN, YZ, VU
a. AB b. MN c. YZ d. VU

N— oMYy po&‘o‘ FNSASS  \N_SERURNCe

1IR If A=1, PAT = 37, then TAP =

%37 c. 36 d. 38

PAT =" +++20 TAPT— Lo+ \ 4\
\ =3+ =37

If D=4, BAD = 7, then what is the value of ANT?
a. 8 b. 17 4;’« 35 d. 37

BAD = X x¥ 14— F

L ANT = t+1gyg+r2xo =S
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Logical Reasoning

({PA If MATHEMATICS = 12345123678, then MAHATMA = ?

%242312 b. 12345123 c. 12345678 d. 12425341
M A THE MATICS MAHRA TMA
23 494 <SSt =372 ll-ﬁlBlD_
.
.63' If D = 4, COVER = 63, then BASIS = ?
a. 55 .50 c. 49 d. 54
C OV ER =T 3IFISs+HF 22+ S+ \1g =63
\ R A S | & = 2+ 1+ 19+ 4+19 = SO
.64. If HKUJ means FISH, what does UVCD means?
a. STAR 1. STAB c. STAL d. None of the these
Hu-——3 OD—y—e—Db
—2 -2 -2 X —2 —a2 —2 =z
\. e . — S—T AR
65. If NOIDA is written as STNIF, How MEERUT can be written in that code?
a. QIVYX b. RIWZV /cﬁiJJWZY d. RIIVYX
MN—O—T DA M eE E R U T
¥S FS FS ¥S +S rs +S S +S s ¢S
ST N1 F R 3 S5 W Z ¥

(PR If ‘BEQUICK’ is coded as ZCOSGAI then INDIAN is coded as

B S N AN
ZCc OStALET ——5 5 =5 =32 =2
\ G & B O\ 1=
B If RAMAYANA is coded as PYKYWYLY then MAHABHARATA can be written in that code as

RA MA YANA MAHABHIARATA

sy =2 =2 =z =2 =2 =2 =2 M ¢ 2

\P RN Y T RYEYZFEYPYRY
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Logical Reasoning

(YN In a certain code HYDROGEN is coded as JCJZYSSD then how can ANTIMONY be coded?

N Y D R o &®E N ANTl“’\ONE’

2 +4 FC F¥ 10 tR + +16 +2 14 t6+8 +lo +R +¢ k\¢

T ¢ T Z ¥YSSD  IrERZQWARD

69. In certain language PLAYER is coded as QNDCJX then how SINGER will be coded in that language

PLAY E R ST N G E &

FU+2 43 ¥4 S ¥+ C A1 42 423 4 +4+s +G6

FA A In certain code MONKEY is written as XDJMNL. How TIGER is written in that code?

<§f* Reverse
g’ C =—bl—O—q R E G ITT

-1 = -\ -1

- =1 =1 -1 -\

N\ XDIV\NL— S > FaS

N If BAT can be written as DCV, then MAN can be written as

B A T M—A N
¥2Z ¥232 *23 A2 A2
\ D—C O C P
.72' If CAT can be written as CNANT, then GOD can be written as
C AT 310 > ‘W 1S ihsevted
adtenr Prst 2
CNANT GIN-OND——here eoeh
.73' If SIR can be written as PSPIPR, then MAN can be written as
S+ R M AN “ol s asevigd
h@%ﬁemmm
|~ PSPT PR PMPA PN ek ey
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Logical Reasoning

If TIMBER is written as BERMIT then how would BANTER be written in that code

T\MB\ER B A N T ER

A

BRE R ™M T TE R NA®
L /Rwe)(se

In a certtain code COURSE is written as ESRUOC. How BREATH can be written in the
same code

A C OOV RS E B REA T Y
/
(| ®Renexse
‘\> EcR—LUV-O—C HTAERB
\l
In a certain code 493 means ‘Friendship difficult challenge’; 961 means ‘Struggle
difficult exam’; 178 means ‘Exam believable subject’, then which digit is used for believable?
a. 7 b. 8 —%& aorb d. No
q - pifkicul+ \ -7 ol
L . E=xam e xam | Belinable  SuBROC

77. Vehicle is coded as Book, Book as Flower, Flower as House, House as Calculator.
then where is the treasure of huge amount of knowledge hidden?

a. Book b. Calculator %)’(Flower d. Vehicle
Enow e Aﬂe s htdden——Rool
bW Book 1S coded aS | F\owyy
AN
PN If TALENT is written as LATENT then how would EXOTIC be written in that code?
a. EXOTIC % OXETIC c. TICOXE d. None of these
EN-T T L C
N 3

\‘ LA T ENT S OX-E-T\C

SC

My Notes :
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Logical Reasoning

AR In a certtain language NOITCELES represents SELECTION then AIDNI represents-
a. AIDSI b. HINDI

NotT<SELES

Rexexce N a’rc\?JY

SE LECTION

Mohan starts walking from point A & 1 km towards south, turns left and walks 1 km.
Then he turns left and again walks 1 km. Now he is facing ...
a. East b. West c..South 4‘ North

‘ _— Cinq\\\\) Mohan 1S ‘eﬁd"{’) Moty

Suresh starts from a point walks 2 miles towards south, turns right and walks 1%
miles, turns left and walks% miles and then he turns back. What direction is he facing now?

a. East b. West c. South 76’ North
2
=S \:‘mqu\\ui suvesh IS
N\ 4059 Bacing Nevth

My Notes :
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Logical Reasoning

A man facing East, then he turns left and goes 10 m, then he turns right and goes 5 m
then goes 5 m to the south and from there 5 m to the west. In which direction he is from
original place?

a. East b. West c. South ﬁ’ North

SwW sm sm

4 End-pomt

3

S

\ @< rurting potat-

From her home Avni Reddy wishes to go to school. From home she goes towards

north & then turns left & then turns right and finally she turns left and reaches school.
In what direction her school is situated with respect to her home?

a. North-East % North-West c. South-East d. South-West

School

Home

K is a place which is located 2 kms away in north-west direction from the capital P.

R is another place that is located 2 kms away in south-west direction from K. M is
another place that is located 2 kms away in north-west direction from R. T is another
place that is located 2 kms away in south-west direction from M. In which direction T is
located in relation to P.

a. South-West b. North-West —& West d. North

| started walking down a road in the morning facing sun. After walking for sometime
I turned to my left then | turned to my right. In which direction was | going then?
%East b. West c. North d. South

~-.

7

ram ao'\na - East divechon
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You are going straight, first eastwards then turn to the right, then right again, then
left. In which direction would you be going now?

a. East O b. West &f/South d. North

Logical Reasoning

F'maua you ae ao'lha ‘ta—South —dwedhon

\
m You go North, turn right, then right again, & then go to the left.
Which direction are you facing now?

A< East b. West c. South d. North

F'mm\a you ave ao't\-ﬂ ™ [.'qs-l; dvedory

>

oo Ashwat Reddy traveled 15 kms eastwards, then turned left and travelled 5 kms then
turned left and travelled 15 kms. How far is he from starting point?

a. 30 kms b. 35 kms c. 15 kms ¢n‘< 5 kms
E 'S emsS
< kmsS SkmsS
S \S ems

m Hari travelled 17 kms to the east, he turned left and went 15 kms, he again turned
left and went 17 kms. How far is he from starting point?

a. 17 kms b. 2 kms 4,’»15 kms d. 32 kms
s
S emsS
& 7 =ms

N\

m Sudha travels 8 kms to the south, then she turns to the right and walks 4 kms. Then

again she turns to her right and moves 8 kms forward. How many kms away is she from
starting point?

a. 7 kms b. 6 kms —%Cc4 kms d. 8 kms

kmS
L 4kmS

kwms
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Logical Reasoning

m From my house | walked 5 kms towards North. | turned right and walked 3 kms. Again
I went 1 km to the south. How far am | from my house?

a. 7 kms b. 6 kms c. 4 kms &?5 kms
l IEmsS {&m o
3 m = 4 ¥3 2 \6x 9 — %
4 ENd
m= \4+3> = S EmS
"
House

m Rama left home and walked 5 kms southwards. turned right and walked 2 kms and
turned right and walked 5 kms and turned left and walked 5 kms. How many kilometers
will she have to walk to reach her home straight?

sbms SemnsS

L 2 Emg

Facing the East Gopi walks straight 4 kms, turns left and walks 3 kms and again
turns left and walked 4 kms. How far is he now from the starting point?

a. 2 kms - 3 kms c. 10 kms d. 11 kms

m Pran and Khan start from their office and walk in opposite direction each travelling
10 kms. Pran then turns left and walks 10 kms while Khan turns right and walks 10 kms.
How far are they from each other?

a. 0 kms b. 5 kms c. 10 kms 20 kms
C}i 21Lo0-kms {\O
BEDS to-kms
10 =S 10 kewms
<< A —=
\. T GAR, pran
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Logical Reasoning

m A starts walking from a point ‘P’. A goes westward and covers a distance of 4 kms
and then turns to his right and walks 3 kms. How far ‘A’ is from starting point.

a. 7 b. 9 kms C. 2 kms 5 kms
2 PX 2 %
W= 3 +4
M
IS M= \{2s = S EmS

A cyclist goes 30 kms to North and turning to the East he goes 40 kms. Again he
turns to his right and goes 20 kms. After this he turns to his right and goes 40 kms.
How far is he from his starting point?

a. 20 kms 4‘(10 kms C. 25 kms d. 40 kms
40 kmS
20 20
(\En&
\O0 Y 40 kn S

Ostar+

A man travels 3 kms in the East and turns to south and moves 4 kms. How far is he
from starting point?

/5 kms b. 6 kms c. 2 kms d. 10 kms

Dhrish travels 8 kms towards the North, turns left and travels 3 kms and then
again turns right and covers another 4 kms then turns right and travels another 3 kms.
How far is he from starting point?

a. 18 kms 3em S b. 11 kms =12 kms d. 15 kms
Glems
kmS
3kms

CA Vinod Reddy - vinod.reddy.ca@gmail.com 379




Logical Reasoning

Mitan travelled 12 kms southwards and turned left and travelled 10 kms, then turned
left and travelled 12 kms. How far was Mitan from starting point?

a. 8 kms =510 kms c. 12 kms d. 14 kms
& ®
l2kms 2 kms
to-emS

Ashwat travelled 15 kms towards East then turned towards North and
travelled 15 kms and turned west & travelled 15 kms. How far is he from starting point?

/ 15 kms b. 30 kms c. 45 kms d. zero kms

@ \SewmsS

is‘ems

(——=ws

Daily in the morning the shadow of Ram temple falls on Hanuman temple, and in the

evening shadow of Hanuman temple falls on Ram temple. In which direction Hanuman
temple is from Ram temple?

a. East %West c. South d. North

East

Hamum o Rawy

My Notes :
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Logical Reasoning

A man on a moped starts from a point and rides 4 kms south then turns left and

rides 2 kms and turns again to the right to ride to go more. In which direction is he
moving now?

a. East O b. West %South d. North

4kwns
2 kems . . . . .
He s \hw\:) raving A Soutn _ direcHon)
If Ashwat sees rising sun behind the temple and setting sun behind railway station
from his house. What direction of temple from railway station?
S East b. West c. South d. North
Q\s’mﬂ
gon 0N
sei
Rt wa Towmple
Station

A is B’s daughter. B is C’s mother. D is C’s brother. How is D related to A?

a. Father b. Grandfather c. Brother d. Son

3 -Mothel¥

B e —

C A Dcmah\'e/‘o' D - Bvothew

My Notes :
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Logical Reasoning

P is Q’s brother. R is Q’s mother. S is R’s father. T is S’s mother. How is P related to T?

a. Grand-daughter ﬁ Great grandson ¢. Grandson d. Grandmother

T—Mothers
A

Fatn .
i Lner P 1S Gpveak awv\ésan—@rs T

R-mothen

/\

N\ P- Bwo+he/r’ K

A is B’s brother. C is D’s father. E is B’s mother A & D are brothers. How is E related to C?

a. Sister b. Sister in law c. Niece d. Wife

E-Muther  C© = Fathen

A
A-BYo-‘chefY/ B: D - Qicthen

Given that A is mother of B, C is son of A, D is brother of E, E is daughter of B, who

is the grandmother of D?

/\(A b. B c.C d. D

A - ™M otherx

F—

2 Cc —Son

l

& unﬂ\ﬁe/x', D - Byothen

M is the son of P. Q is grand daughter of O who is husband of P.
How is M related to 0?

/ Son b. Daughter c. Mother d. Father

P/ = hosband

J .
M=<son

1+

Q- dqw(v) Wyex

I

M’{s son_of ' o
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Logical Reasoning

A is B’s sister . C is B’s mother. D is C’s father. E is D’s mother. How is A related to D?

a. Grandmother b. Granndfatl‘!;aé ¥ c. Daughter )l Grand-daughter
E-Mao
D—Fathex
= \LV\ r— A\S S yand dq\k?)\\"’m
- Lex D
A--s\sten ; 2

A is father B & C, B is son of A. But C is not son of A. How is C related to A?

a. Niece b. Son-in-law &/Daughter d. Grandson
A - Tahex

7T

Son—B8——C—Doaughien

A is father B, C is daughter of B, D is brother of B. E is son of A.
What is relationship between C and E?

a. Brother & sister b. Cousins %Niece & uncle d. Uncle & Aunt

A~ Fathex

\’

E -Son , B, O Byothen

C - 'Dcm\ﬁ\ﬁ\\'@\’

If P is husband of Q and R is mother of S & Q. What is R to P?

a. Mother b. Sister C. Aunt Mother in law

R=tqtrerr

L\\)g\)q“e\ P/ Q = w‘\.Pe/ S - Q\s Rrothex s'\s-\-ejzr

\

R' 's—Mothen L.ow\)-{lé‘o’\PJ
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Logical Reasoning

X is husband of Y. W is daughter of X. Z is husband of W. N is daughter of Z. What is

the relation of N to Y?
a. Cousin b. Niece c. Daughter ﬂGrand-daughter

%_hosband Y wife

\b\)/—&auah-\-ef‘r/ Zz husband N S (ﬂmhé dauah+erry

\/ S

N= c\muah‘\'e/‘(

A’s mother is sister of B and she has daughter C who is 21 years old. How is B

related to C?
a. Niece g. Maternal Uncle c. Daughter d. Uncle

a. Cousin / Niece C. Aunt d. Nephew

A-Rvothex , > - Fathen

@ sisiers

c \S Niece

oy A

A is B’s brother, C is A’s mother. D is C’s father, E is B’s son. How is E related to A?

a. Cousin %Nephew c. Uncle d. Grandson
D - Fathex
; ol
C _Mothev E s Nephew A
o~ =
A - Ryo thex , 2
E=Son
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Logical Reasoning

A and B are brothers. E is daughter of F. F is wife of B.

What is relationship of E to A?
a. Sister b. Daughter % Niece d. Sister-in-law

E1S—Niece

Brathers A Q) \Ns\somél E wite Fox A
hyenx
\ = Dawa

M and F are a married couple. A and B are sisters. A is sister of F. Who is B to M?

ister-in-law b. Sister ¢. Mother d. Niece

Yarried coopl @ S sisrews A8

B is sistey thtaw Loy ™

N\

m Q is son of P. X is daughter of Q. R is aunty (Bua) of X and L is son of R, then what is L to P?

/Grandson b. Granddaughter ¢. Daughter d. Nephew

[
¥
R-SoN R- Aun

¥ L

X = C\auah-\-e’( L—Son

L is  Grvandson of P

Rajiv is brother of Atul. Sonia is sister of Sunil. Atul is son of Sonia. How is Rajiv
related to Sonia?

/h’. Son c. Brother d. Father
Sonia . gontl
T
Rajiv, Atul Ryothenr”
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Logical Reasoning

There are 2 film stars, one is father of other’s son. what is relation of two with each

other?
a. Grandfather-Grandson b. Grandfather-son
_gtlusband-Wife d. Father & Son

Ramu’s mother said to Ramu : “My mother has a son whose son is Ashwat”.
How is Ashwat related to Ramu?

a. Uncle % Cousin c. Brother d. Nephew

Five friends are sitting on bench. A is to the left of B but on the right of C, D is to the
right of B but on the left of E. Who are at the extremes?

a. A,B b. A,D / C,E d. B,D
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Logical Reasoning

In a college party, 5 girls are sitting in a row. P is to the left of M and to the right
of 0. R is sitting to the right of N but to the left of 0, who is sitting in the middle?

5 boys A,B,C,D,E are standing in a row. D is to the right of E, B is on the left of E but
on the right of A. D is to the left of C, who is standing on extreme right. Who is standing

in the middle?

4 Ladies A,B,C,D and 4 gentlemen E,F,G,H are sitting in a circle around a table
facing each other - |. No 2 ladies or gentlemen are sitting side by side

II. C who is sitting between G, E facing D
Il F is between D and A and facing G

IV. H is to the right of B

Qs. 1 Who is sitting to the left of A?
a. E 46' F c. G d. H

Qs. 2 E is facing whom?

a.F b. B c.G . H

Qs. 3 Who are immediate neighbours of A?
a. GH . EF c. EH

d. F,H
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Logical Reasoning

P to W are sitting in front of one another in two rows. Each row has 4 persons.
P is between U and V and facing North. Q, who is immediate left of S is facing W.
R is between T and S and W is to the immediate right of V.

Qs. 1 Who is sitting in front of R?

a. U b. Q c.V &P

Qs. 2 Who is to the immediate right of R?
a. S b. U Af T d. None of these

Qs. 3 In which of the following pairs, persons are sitting in front of each other?
ys,v b. R,V c. T,V d. UR

RIS
CRCAC

A to H are seated in a straight line facing North. C sits 4" left of G. D sits second

right of G. Only 2 people sit between D and A. B and F are immediate neighbour of
each other. B is not immediate neighbour of A. H is not neighbour of D.

a. Who among the following sits third to the right of C?
a.B b. F LA d. E

b. Which of the following represents persons seated at 2 extreme ends of line?
a. C,D b.AB c. B,G . DH

c. What is position of H with respect to F?
/3"’ to left b. immediate right c. 2" to right d. 4" to left

d. How many persons are seated between A & E?
T 1 b. 2 c.3 d. 4

DIGRCICRCXORCIO

Given that A is mother of B. C is son of A. D is brother of E. E is daughter of B.
Who is grandmother of D?

b. B c. C d. D

A —Mathery

N

R C —SoN

n

E Doughter D BIother
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We FALL
o

We BREAK

‘ ii.‘l\ I'/

We FAIL a
|-|I | Lol

BUT THEN
We RISE %

We HEAL %
We OVERCOME X
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Food For Thought S

What makes life so difficult?

All things are difficult
before they are
EASY

- CA VINOD REDDY -
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Food For Thought

CLASSY is when you have
\ a lot to say

but you CHOOSE to remain
SILENT in front of fools

CA VINOD REDDY

People don't care for you,
when you are alone
They just care for you

when they are aloneél
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WE ARE NOT OUR besT
INTENTIONS,

We ARE WHAT WE
DO!

4
Y
\//
‘A'

No matter where you
are in life,

GOD always has
more in store.

He never wants you to
stop growing

Food For Thought -

CA VINODREDDY
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Food For Thought -

FORM IS TEMPORARY

CLASS IS PERMANENT
CA VINODREDDY

Your.ICANis

more important than

your LQ

-
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